
Naturschutzgebiet "Alte Egart"

Gemeinde:   Glatten
Gemarkung: Glatten

Landratsamt Freudenstadt
Bau- und Umweltamt

Freudenstadt, Juni 2012

Grundlage:

- Räumliches Informations- und 
  Planungssystem (RIPS) der LUBW

- Amtliche Geobasisdaten

  © LGL-BW (www.lgl-bw.de)  

  Az.: 2851.9-1/19

Naturschutzgebiet

Gemeindegrenze

Gemarkungsgrenze



������������������	


�����
�����
������
��������������������
��
�����������
�������������
����� 	�����
��	������!�"��
#�����$���
�����
�%

&'��()*����*�(++,

����������	��

���
������������	��������������	�	��	���������������	��� !��"#$%��&�����'
���%	�����	(��	��
����������#	�	�������)!��*	�������  ��"#�%��&��!+'�,-����	�����	�.

-�(
��#�����
�����.�����
�����

/-	� -�� 
� �� �(�	���	�	-���	�	�*%(��	����� �	��#	�-	�� �	��#	�	-��	�#%���	�
�#	��������#%���	�
� 0�����	-�
*�	��	������
�,-�������������������	�-	��	��%(����/���������������	�-	���1�����-	�$	�	-�������2�%�	�3����2�

-�/
.�����
�
������


�� /���������������	�-	������	-�	�#�45	����������� �����3���������������	��#	�-	���	��#	��������#%���	�
�-	������&1�	�
�6	��	������&1����	���	%	�	�	��7(��	��	��2�%�	��3����2������	����	���-����-	����
�	��7����%(��	�%-	�	��	�
�1�	�,-	�	���-��	��-��%���,-��������%-����	�����	��#������1��	�

�� /-	�#�	��	���	��&������	�-	�	���-���-��	-�	��8�	��-��������	�-��9�5������.���)))��-��������	���	�	�
���	��0-�-	�����-��	-�	��/	��-%����	�-��9�5������.���))��-��������	���	�	�����	�
���������	������	��	�
0-�-	�	-��	����	���/-	�:���	���-���$	������	-%��-	�	��;	����������/-	�;	����������-��:���	��,-����	-�
<	�-	�����=�(�-�-���:��%����	������	-��0�����������*�	��	������������-	�/��	�������,	-�6���	�

�	�-��	������>��������;	��1�������-	�	��;	���������-��#	�	���%���
���������	�%��	��3-��-���������
?	�	������,(��	����	��&=�	���	-�	��4��	��%-�������	%	���

+� /-	�;	����������-��:���	��-����������%�����	�����%	�������-����	-��	��-�����������&����+��	�	-���	�	�
&�	%%	����������	�%��	��3-��-����������?	�	������,(��	����	��&=�	���	-�	���-	�	��	%	���

-�0
.������1��#

&������,	����	��������������	�-	�	��-��

�� �-	�3���%���������*4��	������	���������-	��	�%��-���	�*�����-����	�-���	��;	�	���-����@=	�����
,	���	%�	����	���-����������	��&�������	������	����	��<���A

�� �-	�3���%���������*4��	������	��������;	�����������	�����	��7�%������	����	��	�	-��	�	��%�����	�
�1�,	��B��-���1����	C=��-	��	��7�������	�A

+� �-	�3���%���������*4��	������	��1�	�,-	�	���	C�	��-���	�����	��6-	�	�B�����&��	������	��(��	���
6	��B�����&1�,	��������%��4��%��-����,	����%%	��0	�	��B�����<1������������1��	-�	��	-����%�-�	
D��	��	�B
�:%	-��(��	�B�������-�����A

�� �-	�3���%���������*4��	������	��7	��	�B�����*	%��	�4%��	�����	��-���-	%�(%�-���	�����=�(������-��-��	�
&����	��(��	����,-	��	�����	����-	�%-�������	=�(��	��6�%������-����-����-���-��	�	��-	��	��*��������
*%����

-�,
����'��

�� D���	��������������	�-	���-����%%	�7���%���	���	����	�
��-	����	-�	��E	���4�������	��;	�(��	�����-�
&������	�-	����	���	-�	�������������%�	����	�����	-�	��$		-���(���-������	��,-��	�������%-��	�
*����������1��	����	���1��	���4��	��



�� D���	����	�	�-����	����	�.

�� ���%-��	���%��	��-��&-��	��	��0���	������������-���	��?	,	-%���1%�-�	��*����������	��-���	�
��	���	��3��-��������%	-���	��	%%�	�9�5����	����������1��	�A

�� &���5	�
�6	�	
�F%(��	���	�������-�	�;	��	�����%��	������%	�	�
�0	-����	������	�%	�	����	�
��%��	���-	�	����������	�(��	��A

�� �-	�$��	��	���%������	�(��	��
�-���	����	�	�����������1%%���	����	�����������	�A

�� �%-	5	��	���	����	�	��	�#	,(��	������%	�	�
�����	�	-�-�	����	������	�(��	�����,-	
3��,(��	�����B���	�����	�	�9�5����	��������	��	�
��-	��	��6���	�������%���	�(��	��A

	� ���(%%	���	�������-�	�#	�	���(��	�����-��	�%���	����	��%��	��A

�� F%����	
�$-%�B���	��&���-�����	%���������	%%	����	��������-��	�
��-���������	��	�4��%-��
���	%���	�	��$	���-%�	����	�A

�� F�%���	����	��F�%���	��	-%	�	-�����-��	�
����	���	��	�
�����	���(�-�	����	������	���4�	�A

�� >-	�	�	-�����-��	�
�,-%�%	�	��	��>-	�	����������	%%	�
��-	����,-%%-������	�����-�	�
��-	���
����	�
�����	�%	��	����	������4�	����	��F�==	�
�0���	�
�3-	����	���	��	����	�������-�	�$���B

6���B���	��E��%������(��	���-	�	��>-	�	����	���	��	�
�����	���(�-�	����	������	���4�	�A

-� �-	������	���-��	�-�	��#������1�����������	���	�	���	��&������,	������(��	��A

?� ����	%�	�
����%��	��
�6���,��	�
������-�	�*����	��	���	��;	��������(��	��������	%%	����	�
:���������	��	�������	%%	��

�� *	�	����������	����	��������	���%�	�A

%� 0(��
�0����	����	-�-����	����	��3����1��	����	������	�������	�A

�� �-	�6	�	�����	�%���	�A

�� �-	�6	�	��-��*����	��	�
�����	����	��*����(�	������:����	�������1�%	
�����	����	����	�
������	��-	�	�	�&��%-��	������	����	�A

�� *%��=%(��	�����%	�	�
�*%���	�(�	���	��*%�����	%%	��%%	����������	��	-�	�A

=� /��	���1�%������	��/��	������	�������	��	�A

G� ��5	���%���������	�%����F�%���	��	����%����B�����/1��	�-��	%
�����	����	��*	���-��
���
�	�,	��	�A

�� #	�4%�	
�7	��	������&��(���	������	�	-�-�	�
�����	���4�	����	�����(��	��A

�� ����	-�	�A

�� 7���	���	-�%���	�����%���	�A

�� 3��������������	��������	��	������H��-��������%���	������;������=�%������	������$(��	�����
&��(���	�������%	�	��



-�2
3������
��4��
���
��

�� /-	�;	����	��	��
����	%�	���-�����1���-	

�� ���������	�(5	�%���,-��������%-��	�$��	���������-���	���-��	�-�	����������-���-��	�-�	�
I�������-���	��9�5���	
�����

• �-	�$��	��	���%���-�����	�(��	���,-��A

• ������3��,(��	�����B���	�����	�	�9�5����	���	��6���	�������%���-�����	�(��	���,-��A

• /��	���1�%������	��/��	������	��-�������	�����	��,-��A

• F�%���	��������-��	%���������-��	��-���	�����	��%���,-��������%-��	��*%(��	�����	�
$	���������	��F�%���	���������,	�������	����������	�,	��	��,	��	�A

• $(��	
�7	��	�
�#	�1���	���,-	�$4������	���-�����	�	-�-�����	���	���4���,	��	�A

����<	���
��-	� %���,-��������%-��	���������,-	�	��������	��	�
��-	�����#������	�����%-��	�
$	,-�������������	����(�����	�� ��	�� �	�� >	-%����	� ��� 	-�	�� 3C�	��-�-	�����B� ��	�
&�-%%	�����=���������	-�,	-�	�	-��	����(������	������	�	�	��,��
��%	-������	�1���A

�� ���������	�(5	����1������	�������,-��������%-��	��$��	���������-���	���-��	�-�	����������-�
�-��	�-�	��I�����A

��� ���������	�(5	����1������	��J�����-���	��9�5���	
�����

• 7����-��	�����%�����������	�	���
�����������	%���	�	��<����4%�	���������5	���%�����
��-��	�=�-��%-��	��$	�	-��	��	��-���	��,	��	�A

• �	-�	�*���	���	%%	��	-��	�-���	��,	��	��

�� I��	�1�����%	-���������-	������-�	��-��	���	����(5-�	�,	-�	�����	1��	����������	��#������1��	����
#	,(��	����,-	��	���	����(5-�	�,	-�	��	��	�	��	��3-��-������	��-���	���-��	�-�	����������-���-��	�-�	�
I��������,-	��	�	��I��	���%���������D�������	������

-�)
.�����5���
�67��
���8������

&�����B�����F�%	�	��5����	��,	��	���������-	��4�	�	�������������	�4��	�-��	-�	��F�%	�	=%�����	�������
3-��	%�����������	���	%	���

����-	�	��;	���������-���-���,	-���-��������,	��	��

-�9
:�7�����
��

;����	��;������-��	���-	�	��;	�������������������
��+����&��#�$	��	-����	��	-%��,	��	��
-�;

��
���
�1�
��
#�����
��������,-��-�� -��&-��	� �	�� 
� �������� ������ �����&��#� ����	%�
� ,	�� ����(��%-��� ��	�� ����%(��-�� ����� 
� �
�-	�	��;	����������	����	�	�7���%���	������-����



-�+
<�#��7�������

/-	�	�;	�����������-������>��	��������%�����	�����%	�������-���-��:�����

:��%����	
��	������/	����  �
<	�-	�����=�(�-�-���:��%����	
#��7(��	�%	


